S Gido duc va Dao tao KI THI CHON HQC SINH GIOI VONG TINH

Bé&n Tre 1.GP 9 THCS NAM HOQC 2005-2006
Mén: TOAN
pé chinh thiic Thoi gian: 150 ph ( khong k€ phat dé)
T Ngay thi: 23-02-2006
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2. Khong st dung may tinh.
(2006°2016+312007-1)(2006.2011+4) _, .
2007.2008.2009.2010.201 1
Bai2: 1. Tim md¢ hai phuong trinh CAmx+1=0vax*+x+m=0cit
nhit mdt nghi¢m chung.
2.Cho X, , Xa, X314 ba sO thuc khdc O thda:
X, + Xo+ X3 =4, X]Xﬁ + XoX3 + X3X] -O X1X2X3 = b,

Bail: 1.VGi xz0. Tinh

Ching minh

Chung minh . ‘<0,
x+y=2
X' =y =T(x-y)
2.Choa,b,cladddaiba cdnh cua mot tam giac,
Chirng minh phuong trinh a’x* + (a*+b*-cHx + b* = 0 vd nghiém.
Bdl 4. Cho goc vudng Oxy. ‘

Trén Ox , 1dy hai dicm A, B sao cho A i) gita Ova B, AB=2cm;

wr¢n Oy, lay hai di¢m C , D sao ‘cho D ¢ gitta O va €, CD =8 cm. Tinh dién
tich tf gidc ABCD biftring AD=5cmva BC=13cm.
Bai5: Cho dudng tron tdm O, bdn kinh bang 1; AB la mdtday cung cda
dudng tron, Goi M 13 di¢m wén dudng tron dudng kinh AB , khodng cach
O dénddy AB 1a h.

1. Ching minh  OM <h+1-ht.

2. Tim gid tri 16n nhdt ¢ the ¢6 cia do dai doan OM .

Bai3: 1. Giaihé phuong trinh: {




t BAK CHIRH |

S§ GD-BT Bén Tre Ki thi Hoc sinh gidi 18p 9 cdp Tinh
PE CHINH THUC Nam hoc 2005 = 2006
Mon : Lich s
Thai gian: 150 phiit, khong k& thasi gian phét dé

I. LICH SU VIET NAM.

Cau 1: (2 di€m)
Néu sy kién lich st Viét Nam quan trong nhat xdy ra theo cdc mdc thdi gian sau
diy: Nim 1858, 18591862, 1874 , 1883, 1884, 1885 ,1907, 1916, 1917.

Cau 2: (5 di€m)
L4ap bang so s4nh phong trao BSng du va phong trao Duy tan theo cic y€u cdu sau
day: Ngudi linh dao, muc dich, ndi dung hoat ddng, nguyCn nhdn thit bai .

Cau 3: (7 diém)

Lap bdng so sanh phong trao cdch mang 1930-1931 va phong trao dan tdc, dan
chi 1936-1939 vdi cde ndi dung sau didy: Muc ti¢u, luc lugng tham gia, hinh thie ddu
tranh, ké1 qud, y nghia . '

1. LICH SU THE GI(I .

Cau 4: (6 di€m) .

Trinh bay su phat ri€n cda nén kinh t€ Nhat Ban wr sau Chién tranh thé gidi lan
‘tht hai d€n nay va nguyén nhin cla sy phat trién d6. Thco cm, nguyén nhin nao 1a
quan trong nhat ?



SO GIA0 DUC-PAO TAO DE THI CHON HQC SINH GIOI LGP 9

BEN TRE NAM HOQC 2005 - 2006
PE CHINH THUC MONTHI:  VATLY

THO!I GIAN : 150 phiit, khong ké thi gian giao dé.

Bail:

Mot ngudn sing hep S chi€u t6i tAm O mot guong phing nhd mot tia sdng tdi
ndm ngang. Tia phdn xa in trén wong mot vét sing A ¢ dd cao h = 100 ¢m so vdi
phuong clia tia tdi, tudng cich O mot doant=1,73m=v3m hinhvél.

a) Xdc dinh géc tdi clia tia sing.
b) Ngudi ta quay guong quanh mot truc di qua O va vudng géc v6i mit phéng tdi,
thi thdy vét sdng trén tudng & vi trf A’cdch vét sdng cli mot doan AA’ = 200 cm,

d phia trén. Xdc dinh chiéu quay va géc quay clia gudng.

Bai 2:

Cho mach dién A-B nhu kink vé 2, b3 qua di¢n trd cdc doan diy néi va dién trd
cdc am per k&, cdc dién rd ¢6 gid trj déu bing R. Tinh dién tr& tuung duong cda doan
mach (Rap).

Bai 3: i '
“Cho mach dién nhu hinh vé 3, biét Ri=15Q,R, =-le Q, R3=12Q,R412 mot
bi€n trd, Uz = 12 V, b qua dién trd cdc doan day ndi va dién trd cla amper k€.
a) KhiRs=12 Q. Tinh s§ chi ctia amper k& va ch chidu dong di¢n qua amper k&,
b) Tim lai két qua ctia cau (a) khi cho Rs=8Q. :
¢) Tinh gid tri ctia Ry khi cho dong dién qua amper k&, ¢6 chiéu di tr C dén D va
cO cudng do 1a 0,2 A. :
Bai 4. ‘

Cho mach dién nhu hink vé 4, von k& c6 dién trd Ry, hiéu dién the U, duge
gilt khong déi, von k€ V chi gid i U,. N&u gidm R di ba 1dn thi s3 chi cda von k& V s&
ting 1€n hai lan. Héi khi R gidm dén s6 khong thi 56 chi von k€ V ting 1én bao nhisy
ldn so vdi U,?

Bais:

Cho mach dién nhu hink vé 5, cho bict Uas = 12 V, Ry, 12 bién tr3, b3 qua dién
tré cla c4c doan diy néi. Cong suit tiéu thu cda cdc den b, by, s, By, bs lin luct 13
Pi=4W,P,=16W,P;=4aw, Pi=10W,Ps=1Wvi ¢Ong sult tiéu thu trén biéh trd
Ry 1a I W, dong dién ¢6 chidu nhy hinh vé&. Tinh di¢n ud cta cdc béng dén va dién rd
clia phin bién trd tham gia vao mach dién.
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SO GIAO DUC VA PAO TAO KI THI CHQN HQC SINH GIOI CAP TINH
TINH BEN TRE LOP 9 THCS NAM HOQC 2005 - 2006

DPE CHINH THUC Moén : Ngir viin

Thoi gian : 150 phat (khong ké thoi gian phat dé)
Ngay thi : 23.02.2006

Céu 1: (6 diém) |
Anh (chi) hiéu nhu thé nao vé nguyén li nhan nghia duoc thé hién trong doan

trich sau day :

Viéc nhan nghia cot & Yén dan,
Qudn dicéu phat trude lo trir bao.
Nhuw nuce Bai Viét ta tir trude,
Von xung nén vin hién da léu,
Nui séng bo ¢di da chia,
Phong tuc Bdc Nam ciing khdc. :
Tor Triéu, Dinh, Li, Tran bao doi xc'ijz nén dic ldp,
Cung Han, f)wong Téng, Nguyén méi bén xung dé mét phuong,
Tuy manh yéu timg lic khdc nhau,
Song hao ki¢t doi nao ciing c6.
(Theo Ngi vein 8, tap 2, NXB Gido duc, 2004, trang 66)

Cau 2 : (14 diém) |
Cai hay cai dep cua bai tho Anh trang (Nguyén Duy).
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SO GD&DT BEN TRE - KY THI CHON HOQC SINH GIOI

Dé chinh thuc CAP TINH LOP 9 THCS. Nim hoc 2005-2006

Mén thi - SINH HOC Thoi gian : 150 phat , khong ke thot gian giao d¢
Khoa ngay 23 thang 02 ndm 2006

Cau 1: (5 diém)
| 1. Trinh bay ndi dung qui ludt phan li doc lap cua Men den.
1 2. O dau Ha Lan, gen A qui dinh hat vang, gen a qui dinh hat xanh; gen B qui dinh hat
tron, gen b qui dinh hat nhan Cac gen nay phan li doc lap = Lai dau Ha Lan hat xanh,
nhan véi dau hat vang, nhan thi I s¢ co ket qua nao sau day ?
a. 100% hat vang, nhan
b. 50% hat vang, nhan; 50% hat xanh, nhan
c. 75% hat vang, nhan, 25% hat xanh, nhdn
d. Cau avab.
- Hay chon phuong an ding nhét
- Cho déu F, giao phan v6i dau hat xanh, tron. Tim ket qua ty 1¢ kiéu gen va kiéu
hinh ¢ Fz .
1 3. Lai 2 cdy ca chua bé me khac nhau ve 2 cap tinh trang ( mau sic va hinh dang qua)
thuan chung tuong phan di truyén doc lap voi nhau thu duoc ca chua F, Giao phén ca
chua F, thi F3thu duoc ti I tirng cap tinh trang nhu sau: 3 do . 1 vang , 3 tron . | bau duc
Hay tim ty 1é kiéu hinh ¢ F ? Giai thich.

Cau 2: (5 diém)

- Qua trinh ty nhan doi cua ADN dién ra theo nhitng nguyén tac nao ?

- Cho biét cac axit amin tuong (ng voi cac b ba ma sao trén mARN nhu sau
valin : GUU, Alanin ;: GXX, Loxin = UUG, Lizin -~ AAA, Métionin - AUG, Xistein.
UGU. Mot chudi axit amin co trinh tu axit amin nhu sau Métionin - Loxin — Alanin -
Valin — Lizin — Xistéin — Loxin  Hay xac dinh trinh tu nucleotit trong gen qui dinh
chudi axit amin nay. Biét rang bo ba két thic cua mARN ¢o bo ba la UAA
Cau 3: (5 diém)

_ Em bé (hinh a) ¢ bd nhiém
siic thé 2n = 47(hinh b) da bi
bénh gi trong cac bénh sau

day?
K}L KA ER T A e a ("..ém diéc bam sinh
; 2 3 4 S5 B b. Ung thir mau
Gd AU BE XK 8RR ¢ bao
7 8 9 16 11 12 d Tocno
'::"' Ao b ak Ap - Hay chon phuong an dung
ol “Trinh bay dic diém biéu
Kid Am &n asd aw H- o : : I A
¥ 0 31 22 hién va co ché phat sinh bénh
nay
e
(Hinh a) (Hinh b)

Cau 4: (5 diém)
- Trinh bay hién tuong thoai hoa do tu thu phdn & cdy giao phan
- Mot loai cay giao phan co ty 1€ kiéu gen Aa ¢ doi dau (1,) 1a 100%. Néu cho tu
thu phén bat budc qua cac the hé thi ti 1¢ % kiéu gen di hop va dong hop o 1, 12, Iz, s
la bao nhiéu ? |
(Heét)



SO GD-PT BEN TRE KY THI CHON HQC SINH GIOI CAP TiNH LGP 9 THCS
I NAM HQC 2005 - 2006
PE CHINH THUC Mén thi: DIALY
Théi gian: 150 phut (khong ké phat dé)
Ngay thi: 23/ 02/ 2006

Ciu l: (5,0 diém)
Dya vao bang:  Dién tich rimg Viét Nam (Pon vi: Triéu ha)
Nam 1943 1975 1990 2003
Dién tich rung 14,3 9,6 9,2 12,1

a) Tinh ti 1& (%) che phu rimg so v&i dién tich dét lién (lam tron la 33 tridu ha).
b) Nhén xét vé xu hudng bién dong cia dién tich rimg Viét Nam

Céu 2: (5,0 diém)
(2-a) (2-b) (2-c)

I L} vV Vil X X I il VoV XX

Dua vao kién thuc da hoc:
a) Xac dinh bzcu do thé hién ché do nhiét va mua & tmh Bén Tre.
b) M6 ta dic diém ché do nhidt va mua & tinh Bén Tre,

Céu 3: (5,0 diém) ;
Duva vao bang: Co ciu GDP cua nudc ta thai ky 1991 - 2002 (%)

1991 | 1993 | 1995 | 1997 | 1999 | 2001 | 2002
Ndong - ldm - ngu nghiép 40,5 29.9 27,2 258 254 | 23.3 23,0 |
Cong nghiép - xay dung 23,8 | 289 | 288 32,1 34,5 | 38,1 | 385
Dich vu 35,7 41,2 440 42,1 40,1 | 38,6 38,5

a) V& biéu dd thich hcrp thé hién co cau GDP cua nuoc ta thoi ky 1991 - 2002,
b) Nhén xét su chuyén dich co cau nganh kinh té cia nude ta.

Céu 4: (5,0 diém)

a) Dién vao ban do vi tri cac tinh, thanh ph6 nim trongvﬁ'ng kinh té trong diém phia Nam.
b) Dién vao chd tréng cac chi tiéu cua ving kinh té trong diém phia Nam so véi ca nude.

- Hét -

Thi sinh luu y: - Bai lam cdc cdul, 2 va 3: lam bai vao to gidy thi binh !hu'dng
-Bai lam cau 4: lam bai vao (& gidy kém theo dé thi



Ky thi chon Hoc sinh gi6i 16p 9 cap tinh | Hovaténthisinh: ... ... ... ... ... ... ... ..
Nim hoc 2005-2006 Ngay sinh:
B3k 4008 cobthi ¢.s 1.0 1 e secvsts 2 fHOGSINIIONG: ... .vv oo S ESI BG AT 0 sos ovn o
YN ..ii coi s it booon o | /SO bodank:
MON THI: PIALY Chir ky Giam thi: S6 mat ma
1)
L 2)
SO mat ma
BAI LAM (Danh cho Céu 4)

a) Dién vao ban dd vi tri cc tinh, thinh phé ndm trong ving kinh té trong diém phia Nam.

L aYe

PONG

1070

in

b) Pién vao chd trong cac chi tiéu ciia viing kinh té trong diém phia Nam so véi ca nudc.
Béng: Mot s chi tiéu ciia ving kinh té trong diém phia Nam so vdi ca nudc, nim 2002

(Pon vi: %)

g Chi tiéu o | b e e ot o
S 100,0 100,0 100,0
Vung kinh t¢ trong
Atkes nits N 54,7 i 60,3 35,2




$G GD&DT BEN TRE KI TH!I CHON HOC SINH GIOI VONG TINITLOP 9 THCS 05-06
DI CHINH THUC MON : HOA HOC ] \
TH(I GIAN : 150 PHUT (KHONG KE GIAO DI%)
NGAY THI : 23-02-2006

Ciul: 4,0 di€m

Hon hdp A chita Fe,0;, CuO, Ag, Cu, Fe. Trinh bay 2 phudng phdp hoa
hoc dé tach 13y Ag tinh khi¢t tir hdn hgp A. Vict cic phuong trinh phdn dng héa
hoc xay ra.

Caull :3,0diém

Dung thi nghi¢m héa hoc d€ ching minh suf ¢6 mit cla cic nguyén 13 ¢6
trong axit HCL Vi€t phuong trinh phin (tng minh hoa. .
Céu Il : 5,0 diém

I. Cho 4,9 tdn H,SO, tic dung vdi canxi photphat du, thu dudc 10,12 tin
supcphotphat don. Tinh hi¢u sufit phn tng.

2. Oxit cao nhiit cia mdt nguyén & héa hoc ¢ phan & khai 1a 80 d.v.C.
Xdc dinh cdng thic hoa hoc va (én goi cda oxit.

CaulV:4,0diém
P& hé mi¢ng nhitng lo chira cdic dung dich riéng bi¢t sau ; clo, brom, hidro
sunfua, canxi hidroxit. ¢é thay ddi niao xdy ra khong ? Giai thich.

Ciu 'V : 4,0 diém o

Cho 2,76 gam chit A ( chda C, H, O ) tic dung vita di v6i dung dich
NaOH, sau phdn iing dem chung kho dung dich thi thu duge phin hoi chi ¢6 nudc
va phin ridn 12 4,44 gam mudi nati. Nung néng luding mudi trén trong oxi du thu
dugc 3,18 gam natri cacbonat, 2,464 it cacbon dioxit (dkte) va 0,9 gam nude. Xac
dinh cOng thic don gidn nhit clia A. M ‘

Cho Na=23, Al=27, K=39 , Ca=40, Cu=64, H=1, C=12, N=14, 0=16,P=31,5=32 .
Thi sinh dudc sit dung bdng Hé théng tuan hoan.

HET




SG GD-PT BEN TRE K1 THI CHON HOC SINH GIOI CAP TiNH LGP 9 THCS
Maén thi : TIENG ANH - Nim hoc 2005-2006

BDé chinh thirc Ngay thi: 23/02/2006
Thaoi gian : 150 phat , khong ké thoi gian giao dé .

- D& nghi thi sinh viét phén cau tra 16i vao ding vi tri d& qui dinh trén dé thi.
- P& thi gdm ¢6 09 trang , thi sinh lam bai truc tiép trén dé thi.

+Huéng din cich 1am bai phin tric nghi¢m : trong phin tir vung , ngit phép, doc hiéu
( Chon cac option dung A,B,C hodc D)

« Néu chon phuong 4n dung A : Khoanh tron phuong 4n A.
« Néubo phuong 4n A : Danh chéo phuwong 4n A.
« Néu bo phuong 4n A , nhung chon lai phuong an A :  T6 den phuong an A.

Téng s6 di€m Ho, tén, chit ki Gidm khio
1/ .......................... 86 PHA’CH :
( do Chil tich hoi dong
2 : cham thi ghi )

SECTION | . LISTENING

a) Listen and tick ( ') the places the customers want to Visit. .

0 Portugal ; 0 Sydnéy

[] Singapore [ Moscow

O Italy 0  Brazil
-~

O The USA [0 South Africa



b ) Listen again and complete the chart below :

Customer 1 Customer 2 Customer 3

1) Where ?

2) When ?

3)How long ?

4)How many people ?

5) Transport ?

6)Accommodation ?

+ Listen again and check .



SECTION |I. LEXICO & GRAMMAR
PART 1 .Choose the word or phrase (A,B,C, D) which best completes each sentence. Circle

the letter you choose :
1) Many people have stopped. . . ..because they are afraid that it may be harmful to their health.

A. smoke B. to smoke C. smoking D. smoked
2) We had better . ... .. reservations so that we will be sure of getting a good table.

A. make B. to make C. making D. made
3) He said that he’drather....... to a small college instead of to a large university.

A.togo B. go C. going D. is going
4) Temperature, the simplest weather element to measure, is probably. . . .. .. used than any
other kind of data.

A. most frequently B. as frequently C. more frequently D. frequently
5)To qualify as a language, a communication system must have the features of meaningfulness,. .
......... and productivity.

A. displacement B. to displace C. displacing D. to be displaced
6) Samuel Clements,. . ... ... under the pen name MarkTwain , created characters-that reflected
purely American traits and habits.

A. he wrote B. and he wrote C. who wrote D. wrote
7) The doctor examined me and then wrote outa. ...... for me to take to the chemist.

A. paper B. recipe C. prescription D. ticket.
8) The National Basketball Association will not let any athlete. . . .. .. playing in the league
unless he submits voluntarily to treatment for drug addiction.

A. to continue B. continue C. continued D. continues

9) The type of plant and animal life living in and around a pond depends on the soil of the pond, .
........ , and the pond’s location.

A. What the quality of the water is C. the quality of the water

B. how is the water quality D. what is the water quality.
10) The discovery of the halftone process in photography in 1881 made it....... photographs in
books and newspapers. L

A. the possible reproduction C. the possibility of reproducing

B. possible to reproduce D. possibly reproduced
11) After the Second World War the woman wage earner .. ... .. a standard past of middle class
life in the United States. :

A. who became B. becoming that which =~  C. became D. to become
12) According to some educators, the goal of teaching is to help students learn what. . . . to know
to live a well- adjusted and successful life.

A. do they need » B. they need C.they are needed  D. as they may need
13) Would youmind . ....... your music a little more quietly, please ? '

A. play B. to play C. played D. playing
14) Youshould...... .. your diet with fresh fruit and vegetables. o

A. support B. complete C. supplement D. suppose
PART 2 : Read the text advertising holidays in Finland bglew. Then use the word given
in capital letters to form a word which fits in the gap. Number ( 0). . . .. has been done
as an example : (0). ENJOY — FEnjoyable

If you want a more (0 ) ENJOY. . ...... . holiday that’s better value, forget about
(1)).CROWD . . ....... ... beaches and traffic jams and come to Finland.

3



Finland is the world in its (2). NATURE . . . .. .. state: fresh , bright and completely
unspoilt. You ‘Il find the brilliant sunshine , pure air, clear (3). POLLUTE. . . .. ...
streams and our blue lakes, all waiting to welcome you.

Today Finland is less (4). EXPENSE . . . .... ... than ever before . In (5). COMPARE
........... with many other holiday destinations we offer (6). EXCEPTION . .... ....
good value for money. Our hotels and restaurants are as (7). COMFORT. . .. . .. ,efficien
and (8§) FRIEND . ... ......... as ever.

Whether you want a short break, a week ‘s lakeside (9). RELAX . . . . . .. or a
fortnight of golf ,sailing and fishing .Finland offers (10). FORGET ... .. .. experiences at

unbeatable prices.

Your answers :
1. 2. 3. 4. 5.

6. 7. 8. 9. : 10.
PART 3 . Supply the correct form of tke verbs in brackets. Write your answers in the
space provided below :

a) Rob Fellow comes from England. He (1. come ). . . .. to Paris six months ago to learn
French. He started learning French at school in London when he was 12, so he ( 2. learn ). . . ..
it for nearly ten years. He just (3. take). . ... .. an exam. If he passes, he (4. move). ... ... .
to the next class. He is excited today because his parents (5 .come ). . . .. tomorrow to stay with
him for a few days. ‘ :

b) It is easy (6. see ). . . . .. animals on the road in daylight but sometimes at night it is
difficult (7. aveid ). ... ... (8. hit)...... them. .

¢) Yesterday while they ( 9 . practise ). . . .. .. (10. speak). . . . . . .English in class, the
teacher (11.ask ). ...... some of them (12. speak ). . .. in front of class.

d) She apologized for ( 13. borrow )......... my dictionary without ( 14. ask ). ......
permission and promised never (15.do)........ it again:

Your answers : o

1. 2. 3. 4 5.
6. 7. 8. -9 10.
11. 12. 13. 14 15.
PART 4. Fillin each space with a suitable preposition : _

Before the invention (1). .. ........ the postage stamp, it was difficult to send a letter
@). . o another country. The British post office made the first stamps (3).........

1840. Other countries started to make their own postage stamps very quickly the following
years. In 1874, a German postal official, Heinrich von Stephan, drew up a plan for an
international postal union . And at his suggestion, the Univergal Rostal Union (UPU) was born .
Each country (4). . ........... the UPU agreed to accept Ktters (§). .. .. .... .. prepaid postage
©6)............ the other members. The UPU became a specialized agency (7). .. ... .. the
United Nations (UN) (8)........ . 1948. Today the UPU’s headquarters is (9). . . . . .. Bern,
Switzerland. Almost every country (10). ........ the world is a member of this organization.
Each (11)....... the 189 member countries pays transportation charges (12 ). . . .. members

4



who carry international mail (13)....... their borders. The charges are determined (14). ... ...

the UPU. The UPU takes care (15)....... .. all international mail problems.

Your answers :

1. 2. 3. 4. 3.
6 7 8. 9 10
11. 12. 13. 14, 15.

SECTIONIII. READING
PART 1 . Read the text below and decide which word or phrase A,B,C or D best fits each space.

There is an example at the beginning (0) B. generally

School exams are (0). . .. ... speaking , the first kind of tests we take . They find out
how much knowledge we have (1)......... But do they really show how intelligent we are ? .
After all, isn’tita (2). . ....... that some people who are very successful academically don’t
haveany (3)......... sense 7

Intelligence is the speed (4)............. which we can understand and (5)....... ..
to new situations and it is usually tested by logic puzzles. Although scientists are now preparing
6) ........ ... computer technology that will be able to read our brains, (7). ... .... tests
are still the most popular ways of measuring intelligence.

A person’s IQ is their intelligence (8)...... ... it is measured by a special test. The
most common IQ tests are (9). . ... ... .. by Mensa, an organization that was founded in
England in 1946. By 1976 it (10)....... ... 1,300 members in Britain. Today there are 44,000
in Britain and 100,000 worldwide (11)....... ... in the US.

People taking the tests are judged in (12)....... ... to an average score of 100, and
those who score over 148 are entitled to join Mensa. This (13). . . .. .. ... at 2 % of the
population. Anyone from the age of six can take the tests. All the questions are straightforward
and most people can answer them if (14 ). .... ... ... enough time. But that’s the problem, the
whole'(18)....... ..... of the tests is that they’re against the clock.

0. A. mainly ® generally C. widely D. usually

1. A. fetched B. gained C. attached D. caught

2. A.case B. fact C. circumstance D. truth

3. A. natural B. bright C. sharp . D. common

4. A.on B, to C.in D. at

5. A.accord B. react C. answer D. alter

6. A.advanced B. forward C. ahead ‘D. upper

7. A. at this age B. for the present C. at the time D. now and then
8. A.how B. that C.as D.so

9. A. appointed B. commanded C. run D. steered

10. A. held B. had C. kept D. belonged
11. A, largely B. enormously C. highlye~ D. considerably
12. A. concern B. relation C. regard D. association
13. A.adds up B. turns to C. comes up D. works out
14. A. allowed B. spared C. let - D. provided

15. A. reason B. point C. matter D. question.



PART 2 . Read the passage carefully and circle the best answer A, B, C or D for each
question :

For almost two months Dominic York , a 23 —year —old hairdresser, wandered about
hospitals at night,wearing a white coat and pretending he was a doctor . Yesterday he proudly
claimed in court that despite his complete lack of medical experience or qualifications, he had
saved several people’s lives. He had even been allowed to assist a surgeon during an emergency
operation on a patient who was choking to death on something she had swallowed.

“ I watched one of those TV dramas about a hospital and suddenly I felt like playing
one of the roles myself. So I put on a white jacket and a stethoscope and walked around one of
the biggest hospitals in London . At first I just watched. Once you learn how doctors talk to
patients, nurses and other doctors, it’s easy to take people in “, he said

One of the patients he treated was Laura Kennan. She had almost been run over by a car
and passed out. When she came to in hospital, York was standing over her.

“ He looked very professional. He told me his name was Doctor Simon. Then he gave me
some sort of injection,” she said . Although he left a very nasty bruise on her arm, and then
suddenly cleared off when a nurse asked who he was, she didn’t think there was anything wrong.
“ | would never have realized he was a fake if a policewoman hadn’t showed me his photograph a
week later. When the policewoman told me who he really was, I could hardly believe my ears”.

Judge Raymond Adams told York that he was “ shocked and horrified  that he got away
with his deception for so long, and then sentenced him to eighteen months in a special prison for
criminals with mental disorders.

I can only hope that this will not lead to further problems. After all, you will have
considerable opportunity to study the behaviour of the psychiatrists who will look after you
while you are there. If you try to persuade people that you yourself are a psychiatrist after your
release, I'll make sure that you are given a much longer sentence, “Judge Adams warned York.

1) York was proud of the fact that
A. people thought he was a real doctor.
B. asurgeon let him watch an operation.
C. he had performed a doctor’s duties successfully.
. D. he had pretended for so long to be a doctor..
"2) York learned how to behave like a doctor by
A. getting some training and experience.
B. watching doctors while he pretended to be one.
C. observing doctors while he was a patient. '
D. acting the part of a doctor in a television drama.
3) Why was Laura Kennan in hospital ?
A. She had swallowed something and almost died.
B. She had to have an emergency operation.
C. She had been involved in a road accident.
D. She had lost consciousness while driving.
4) When York gave Laura Kennan an injection , she -
A. had no idea he was not a proper doctor.
B. realized he was not her usual doctor. .«
C. told apolicewoman about him.
D. asked a nurse who he was.
5) The judge at his trial was shocked because York
A. felt he had done nothing wrong.
. B. had had no proper medical training.
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C. seemed so proud of what he had done.
D. had not been detected earlier.
6) The judge was worried that York would
A. bein prison for only eighteen months.
B. not get the treatment he needed.
C. learn to act just like a psychiatrist.
D. persuade himself that he was a psychiatrist.
7) What general impression does the article give us of Dominic York ?
A. He wanted to train to be a doctor.
B. He was a good at pretending to be a doctor.
C. He wanted to cause other people suffering.
D. He actually believed he was a doctor.

PART 3 : Fill in each blank with one suitable word .Write your answers in the space
provided below the passage :

British parents are always complaining that their (1)........... ..... spend too much
time glued to the telly and not enoughtime (2)............... other activitiesﬁ)ike sports and
reading. A survey recently carried out on people’s viewing habits (3). . .. .......... not
disprove this. It shows that young people in Britain (4). . ... ....... on average 23 hours a
week in front of the television, (8).................. works out at over three hours everyday.

What is surprising , however, is the fact that the average adult watches even more : an
incredible 28 hours a week .We seem to have become a nation of addicts. Just about every
household in the country has a television and over half have two or more. (6). . . .......... . to
the survey, people nowadays don’t only watch television s1tt1ng in their living-rooms, they
watch it in the kitchen and in bed as well.

The Education Minister said a (7). . .............. weeks ago that Britain ‘s pupils
@ ... spend more time reading. Unfortunately, parents are not setting a good
example : adults do less reading than young people . In fact , reading is at the bottom of their
list of favourite pastimes . They would (9).............. listen to the radio, go to the cinema
orhire a videoto(10).................. on their televisions at home.

SECTION IV . WRITING
PART 1 : Finish each of the following sentences in such a way that it means exactly the same as
the sentence printed before it :
1) If the driver had seen the red light, the accident wouldn’t have happened
The accident happened. . . ... ... . o
2) Despite her poor memory . the old woman told interesting stories to the children.
Eventhough......... ... . ... . e
3) “Think carefully before making such an important decision “, my mother said to me
My motheradvised. . . ...... ... .
4) Julia has been working for this company for six years '
Juliastarted . . .. .. oo e e e e
5) The teacher said to his students : “ Do all the homework‘h;;fore you come to class *
The teachertold hisstudents . .. ... .. .0 o e
6) Remember to lock all the doors and windows before you leave home for the holiday.
DOM e .t ot e e e e
7) “1°ll drive you to the airport.I insist, “ John said to Linda . '
Johninsisted . ........... ...l e



8) “ It was nice of you to invite me to the dinner . Thank you, “ Miss White said to Peter.
Miss White thanked

......................................................................

10) People in many parts of the world celebrate the beginning of spring.
The beginning of spring

.....................................................

PART 2 . Write a description ( 150 -180 words ) of one of the popular celebrations in VietNam
or the world ( such as : Vietnamese New Year ‘s Day , Valentine’s Day , Vietnamese Teacher‘s
Day, Christmas,etc ). Your description should include the following main points :

1) Name and time of festival

2) Purpose of festival

3) Activities ( Before / During / After)

4) Whether you like it or not and give the reasons.

.......................................................................
........................................................................
.......................................................................
.........................................................................
-----------------------------------------------------------------------
.........................................................................

-----------------------------------------------------------------------

--------------

P R T AT

$G GD-DPT BEN TRE Ki THI CHON HQC SINH GIOI CAP TINH LGP 9 THCS
M@én thi : TIENG ANH ( Phdn nghe hiéu )
Ngay thi : 23/02/2006 .

1) P& nghi Gidm thi phat d& cho hoc sinh doc ludt qua khoang 3 phut ,trude khi cho
hoc sinh 1am bai phan nghe hiéu.

2) Thi sinh 1am bai tryc tiép trén dé thi , d& thi gom c6 09 trang. P& nghi thi sinh

viét phén cau trd 13i vao dﬁng vi tri d4 quy dinh trén dé thi.

3) Bing da dudc thu 3 1an cho mdi phin cdu hdi . Gidm thi khong can phat lai bang
nghe. Trong mdi [4n nghe ,bdng ngiing khodng 3«gfitit dé thi sinh 1am bai. Riéng
nghe I4n thd 3 bing ngimng khodng 5 phut dé thi sinh ki€m tra lai toan b ndi
dung bai nghe hiéu.

4) Thoi gian lam bai thi nghe hi€u 1a 15 phit. (ké ca thdl glan phian nghe biang va
thdi gian 1am bai thi )

5) Huéng din cdch 1am bai phan tric nghiém : trong phan tu’ vu’ng nglf phép , doc
hi€u ( phan chonxéc option ding A,B,C hodac D)

- N&u chon phuong 4n ding A :  Khoanh tron phuong én A.
- N&u bd phuong 4n A :  Pénh chéo phuong 4n A,
- N&u bé phuong 4n A |, nhung chon lai phuong 4n A @ TO den phuong an A.

-~




